CSci 1302 Assignment 4
Due Fri., October 3, 2003

Note: the symbol <=> stands for logical equivalence.
Problem 1 (6 points). Exercise 5.4 on p. 76, Parts 1 and 3.

Problem 2 (25 points). Write down deductive proofs for the following argu-
ments:

1. (pvg=r
-r = p
2. ~(p=4q)
p=>r
r

3. pA-r (use proof by contradiction)
g=r

-(p=4q)
4. (phg)&r
(r=pAr=4q
5. (pvg) er

P=r)A(g=r)

Problem 3 (9 points). Recall exercise 5.6 (saints and liars). In each of the
following statements, can you determine who the speaker is? Can you determine
who Pat is? Use truth tables to justify your result.

1. If T am a saint then Pat is a liar.
2. T am a liar, but if Pat is a saint, then I am a saint.

3. If Pat is a liar or I am a liar, then Pat is a saint.



